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Multiplicity in a 40cmx40cm SuperCell
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Distribution of Distance & Energy
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Some diagnoses
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htemp htemp
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TVector3 ImpactPoint_ 0ld( MCParticle *aMCP, double Track_Half_Z, double Track_Radius, double B_Field ) —_— e — — — - - -
//B_Field always along Z+ direction i QDWTE%R_heHx<R/2?T%Eﬁ%§%_tEU

{
TVector3 MCP_Mom = aMCP->getMomentum(); |

int MCP_Charge = aMCP->getCharge(); ” Charge = -1, Px = -0.0996212, Py = -0.425107, Pt = 0.436624, Pz = 0.374203, Phi = -1.80099

R_helix = 485.138 vs R/2 = 900

nT_Endcap = 0.899545
TVector3 ImpactP(@, @, 0); Jl Beta_Endcap = 5.65201

double impact_En = MCP_Mom.Mag(); i R_helix < R/2
double impact_Pt = MCP_Mom.Perp(); Beta = 5.65201
double impact_Phi = MCP_Mom.Phi(); Beta_z = 5.65201
double ScaleFactor = 7 - - ot

. IPx = -25.6865
double Tau = 0; IPy 300.053
double R_helix = *impact_Pt/(0.3%B_Field); IPt = 301.15
double Ratio_Z_Pz = /( *B_Field);

IPz = 2350
New: Particle 84, PDG -211, Charge 0.436624, Pz = 0.374203, IPt 301 1SR 2350

if(MCP_Charge == 0) 0ld: Particle 84, PDG = -211, Charge = 0.436624, Pz = 0.374203, IPt 931.315, IPz 1542.67

{
if( fabs(MCP_Mom[2]/impact_En) > Track_Half_zZ/sqrt(Track_Half_ZxTrack _Half_Z +

Track_Radius*Track_Radius) ) // Endcap

{ Charge = 1, Px = -7.24169, Py = 3.901, Pt = 8.22556, Pz = 3.16863, Phi

R_helix = 9139.51 vs R/2 = 900
nT_Endcap = 0.106233
Beta_Endcap = 0.66748
R_helix >= R/2
Beta_Barrel = 0.197267
} nT_Barrel = 0.031396
ImpactP.SetXYZ( ScaleFactor*MCP_Mom.X(), ScaleFactor*MCP_Mom.Y(), ScaleFactorxMCP_Mom.Z() ); B Beta = 0.197267
} N Beta_z = 0.197267
elsel L = 1800

Tau = std::min( fabs( /Ratio_Z_PzxTrack_Half_Z/MCP_Mom.Z()), fabs(Track_Radius/R_helix)); IPx = -1661.06
ImpactP.SetXYZ( R_helix*(MCP_Chargexsin(MCP_ChargexTau - impact_Phi) + %E{ $23é455
MCP_Chargexsin(impact_Phi)), R_helix*(MCP_Chargexcos(MCP_ChargexTau - impact_Phi) -

, : : IPz = 694.517
MCP_Chargexcos(impact_Phi)), Ratio_z_Pz+MCP_Mom.Z()*Tau); New: Particle 74, PDG = 211, Charge = 8.22556, Pz = 3.16863, IPt = 1800, IPz = 694.517

0ld: Particle 74, PDG = 211, Charge = 8.22556, Pz = 3.16863, IPt = 1797.09, IPz = 693.392

ScaleFactor = fabs(Track_Half_zZ/MCP_Mom[2]);
else

{

ScaleFactor = Track_Radius/impact_Pt;

}

return ImpactP;




Fragment Optimization
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Entries

. Isolated Hit Time Updated
Cluster Time Pattern 6%—3% nit time = 0 @ 20Gev

Definition of Hit Time: Raw hit time - Fly time (speed of light)
Definition of Cluster Time, ty: Initial hit time (fastest)
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Next Step...

w=Reconstruction of Crystal ECAL

- Simulation sample of di-particle
- Validation of Digitization (Energy & Time)
- Pattern study for reconstruction...

sNote of Fast Simulation
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